GRADE TWO – CONTENT STANDARD #1

ACTIVITY D

Permission Granted

WHICH IS IT CLOSER TO?

Introducing the Question
1. Arrange 12 ones blocks on the overhead projector as shown.  Be sure to leave a space between the two rows.  Point to the row of 10 blocks.  What is the value of this group of blocks? (10)  Point to the row of 2 blocks.  What is the value of this group? (2)  Which group has the greatest number of blocks? (group of 10)  The least number? (group of 2)
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2. Place 3 ones blocks between the rows.  Which group are these blocks closer in value to? (group of 2)  How do you know?
3. Replace the row of 3 ones blocks with 7 ones blocks.  Which group are these blocks closer in value to? (group of 10)  How do you know?
4. Introduce the problem to the students.  Use your Base Ten Blocks.  Is 63 closer to 60 or 70?  Is 37 closer to 30 or 40?  Is 55 closer to 50 or 60?  Make a recording of how you answered the questions.  Tell how you know which numbers 63, 37, and 55 are closer to?
Questions for Discussion
· Is 63 closer to 60 or 70?  How do you know?

· Is 37 closer to 30 or 40?  How did you figure that out?

· Is 55 closer to 50 or 60?  How did you figure that out?

· Did anyone have a different answer for the last question?  How did you decide that?

· Did you have trouble answering any of these questions?  What did you do to help?

· Did anyone have a plan to help solve these kinds of questions?  Describe your plan.

[Source: 20 Thinking Questions For Base Ten Blocks Grades 2-3, by Creative Publications]
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